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Setup

u(oyl) [C, n]
mrs[c_,n_] = -———
u(lye) [c’ n]
eqsepeff = {mrs[cl, nl] == f'[nl], mrs[c2, n2] == f'[n2], f[nl1] + h[k1l] == c1l+gl+k2-Kk1,
(1,8) [¢2, n2
f[n2] +h[k2] =c2+g2-k2, ub®[c1, n1] = u _le2, n2] (1+h'[k2])};
l+p
egseptax = {mrs[cl, n1] = (1-<tl) f'[nl], mrs[c2, n2] = (1-t2) f'[n2],
finl] +h[kl] == c1+gl+k2-kl, f[n2] +h[k2] ==c2+g2-k2, gl ==t1nlf'[nl],

u:9r¢c2, n2]

g2=1t2n2f'[n2] , u®®[cl, n1] = ——— (1+h'[k2])}
l+p
(0,1) 1 1 2, n2
{7% —— (l*tl) f’[nl] B < n ] == (l*t2> f,[nz] )
u(t,9) [cl, n1] c2, n2]

B
O

finl] +h[kl] ==cl+gl-kl+k2, f[n2}+ (k2] = c2+g2 k2, gl =nltlf'[nl],
h'[

(1+h[k2]) u®® [c2, n2]
g2=n21t2f[n2],ut®[c1, n1] = }
1+p




2 | NGM41.nb from examples.economicreasoning.com

iqseppositive =

{mrs®®[c1, n1] > 0, mrs®® [c2, n2] > 0, mrs©®V [c1, n1] > 0, mrs® [c2, n2] >0,
f[nl] >0, f'[n1] >0, f''[n1] <0, D[n1f'[nl], nl1] > 0O,

f[n2] >0, f'[n2] >0, f''[n2] <0, D[n2 f'[n2], n2] > 0, h[kl1] > 0, h[k2] > 0,
h'[k2] >0, h''[k2] <0, N1 >0, cl>0,
n2>0,c2>0,g120,g220,0<tl1<1,0<t2<1,p>-1,

utH®re1, n1] >0, u®Yc1, n1] <0, u*%[c1, n1] <0, u®? [c1, n1] <0,
u®9rc1, n1]u®?[c1, n1] - (u*V [c1, n1])2 >0,

u®9rec2, n21 >0, u®Y[c2, n2] <0, u?»[c2, n2] <0,

u®21c2, n2] <0, u*»%[c2, n2] u®?[c2, n2] - (U [c2, n2])2 >0};

A permanent increase in government purchases

Increases the efficient amount of labor

TheoryGuru[{iqseppositive, Dt[eqsepeff, g1,
Dt[gl, g] == 1, Dt[g2, g] == 1, Dt[p, g] == 0, Dt[kl, g] == 0},
Dt[nl, g] > 0(» more labor )]
The variables {cl1, c2, g1, g2, f(nl), f(n2), h(kl), h(k2)}

are isolated and irrelevant to the conclusions.
Assumptions 18 && 20 && 21 && 22 && 5 && 9 && 13 && 14, respectively, were therefore dropped.

True

But not necessarily the equilibrium amount

TheoryGuru[ {igqseppositive, Dt[eqseptax, g],
Dt[gl, g] == 1, Dt[g2, g] == 1, Dt[p, g] == O, Dt[kl, g] == 0},
Dt[nl, g] > 0(* more labor =x)]
The variables {c1, c2, gl, g2, f(nl), f(n2), h(kl), h(k2)}

are isolated and qirrelevant to the conclusions.
Assumptions 18 && 20 &&21&& 22 && 5 && 9 && 13 && 14, respectively, were therefore dropped.

True for some, False for others

Variable interpretations



